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QUESTION 1

Which load balancing method requires the use of an SNMP health check?
A. Destination IP hash

B. Round robin

C. Dynamic load

D. Least connection

Correct Answer: C

QUESTION 2

An administrator wants to make sure their servers are protected against zero-day attacks.
Which FortiADC feature would they configure to accomplish this?

A. Advanced health checks

B. Advanced WVS

C. Signature-based IPS

D. Advanced WAF

Correct Answer: D

QUESTION 3

Which are two advantages of TCP multiplexing? (Choose two.)

A. it reduces the number of TCP sessions that the server

B. it allows FortiADC to balance a client TCP connection among multiple servers

C. A new client connection does not need to wait for a new FortiADC-to-server connection
D. It reduces the number of TCP sessions that clients need to establish

Correct Answer: AB

QUESTION 4
Which three statements about TurboHTTP are true?

A. It does not support content rewriting.

Latest NSE6_FAD-6.2 Dumps | NSE6_FAD-6.2 PDF Dumps | NSE6_FAD-6.2 Braindumps

2/3


https://www.leads4pass.com/nse6_fad-6-2.html
https://www.leads4pass.com/nse6_fad-6-2.html
https://www.leads4pass.com/nse6_fad-6-2.html

https://lwww.leads4pass.com/nse6_fad-6-2.html

Leads4Pass o iaes leads4pass NSE6_FAD-6.2 PDF and VCE dumps Download

B. It is supported only on Layer 2 and layer 4 virtual servers.
C. It support the use of secured HTTP traffic.

D. It can be used with Layer 7 virtual servers.

E. It reduces network latency and system CPU usage.

Correct Answer: ADE

QUESTION 5

An administrator has learned that some of the corporate web servers were exploited using SQL injection attacks. What
should the administrator do to verify their web servers are not susceptible to the exploits?

A. Configure WVS

B. Configure a database health check
C. Configure DNSSEC

D. Configure SSLi

Correct Answer: A
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